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General Mathematics (arts) (Objective) Group - I
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Time:20 Minutes W p = '\LL' Marks : 15
Note: Write answers to the questions on the objective answer sheet provided. Four possible answers

1.1

15.

are given. Which answer you consider correct fill the corresponding circle A,B,C or D in
front of each question with marker or ink on the answer sheet provided.

S B At e i 3t nl S G nen W2t e DCBAzMZ A L 1

A" = ~A then the matrix A is said to be: e b A TaA' = AN
(A) Symmetric Se (B) Transpose PRy

(C) Skew Symmetric S e (D) Square Matrix %

An angle which contain more than 0° and less than 90° is called: :q_w}f nH’ = 90°u% e 0°2 slit 2
(A) Right angle A (B) Acute angle inl

(C) Obtuse angle iz (D) Reflex angle o sl

An arc greater than semi-circle is called: :;L(EU{( U S M id
(A) Minor Arc ) AU (B) Chord 5

(©)  Major Arc vilUd (D) Diameter Vi

A number of medians in triangle is: :gdﬁ;fﬂJ Ul el
A) 4 B) 3 © 2 D) 1

A line joining one vertex of a triangle and perpendicular to its opposite e bl st ,__é* Ry PP
side is called: ’ j

(A)  Side bisector e (B)  Altitude L

(@) Median s (D)  Angle bisector oK sl

Area of a square with side 'S’ is: e bn I oo §20
A) s (B) 28 (©) S (D) 48
Volume of right circular cylinder is: :C‘-rnﬁ Eoib S $ssf LI
(A) ’";h ®) nr © nrh (D) gmz
Who introduce plane? LSS
(A) Lord Mecaley L g5 (B)  Descartes LB

{(C)  Levizie s (D) Newton 4

Va = & isacard ol ordes b Na = a
(A) 1 (B) 0 ©) 172 (D) 2
Factorization of a* =1 is: , eyffat —1
A @+Da+d) B @+DE-1) © @ HE+D) O @-1@+1)@E+1)
H. C.F of 6pqr, 15qrs is: :.%(B’i)l;I(qur , 15qrs
(A) 3qr (B) 3pqr © 3pr D) 3rs

Any value of the variable whicl makes the equation
a true statement is called the:

(A) Constant J  (B) Solution S (C) Inequality w=bl-ZF (D) Equation it

:r‘_JLlf'Q./’cz.b":/m’/obl/ o’(;?c»;?u

How many methods are to solve quadratic equation: AL SIS etlrBasss
(A) 2 (B) 3 © 4 D) 1

3 4 N
The order of R = [5 7 b id 5 7
(A) Ix1 (B) 2% 1 © 2x2 D) 1x2
The techniques of solving a pair of simultaneous equations are: LSS Ut
A) 2 (B) 1 © 3 )] 4
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Roll No

S.S.C. (Part-II) A / 2024

(For all Sessions)

General Mathematics (Arts) (Subjectivey  °70UP"! ) (D Ll
Time: 2:10 Hours ‘ZN P -) f\),h Marks : «
Section - I sl o
2. Write short answers of any six parts of the question. (2x6=12) “EFeln B L ,gc_éf
(i) Reduce to lov:rest form: 2—52113-2— EdreLurF ®
14a%b*

(ii) Prove that: (a+b)’+(a—b)?=2(a"+b?) et (i)
(iii) Define rational Number and give its example. “ZasJong i P mFPy (i)
(iv) Factorize : axray ~x® - xy 2 ()

(v) Factorize: +5x—6 EoF W
(vi) IP(x)=2x"— 5x" + 7x — 7, then find P(2) EPQR)InP(x) =22 - SxP+Tx - TS (V)

(vil) Define least common multiplier. g PSP (viD)
(viii) Write down the methods to find H. C. F (Highest common factor) a3 PLET b (‘)‘" ne) H.C.F  (viii)
(ix) Find L.C. M by factorization: 2ab, 3ab, 4ca _ér}v‘_ﬁuwl,;egjédj (ix)

3. Write short answers of any six parts of the question. (2x6=12) -E el g §S

(i) Solve: ’ 0.3x +0.4 = 0.28x+1.16 AN
(i) Solve by using factorization: 6x* — 19x — 7 =0 -gf{ SUA 2 (i)
(iii) Define quadratic equation: LS Pt Barrs (iii)
(iv) Solve: 3x —2(2x —5) = 2(x+3)—8 u/S ()
(v) Solve by completing square method: ¥+ 6x —2=0 -q/ Sl /Jf v)
(vi) Find transpose of: D= [;lz ? :] ySprass (i)

(vii) Solve 3a+3(a+ f) =b69 ‘ Wyl (vid)
(viii) Find'x'and'y'if: [x_+34 3y1__ 6] = __63 i] )’l-f.é/ph’ 'yratx' (viil)
(ix) Find the matrix products: [_15 :;] = [_12 :g] ,g?:(,“’.,/éd‘b(ufl? (ix)

4. Write short answers of any six parts of the question. (2x6=12) ~EE FeMz 2 L ,gc,J/

(i) Define 'Tangent'? -J—J Ao ()
(ii) Define "Sector”. _u:"g S8 (i)
(ili) Draw an equilateral triangle each side of which is 5.3 cm. a2 F 538 A S Bl (i)
(iv) In which Ratio the centroid of a triangle divides each one of the medians. Y?v/ﬁjéc;kﬂfé,w,,ﬂﬁd//gw (iv)
(v) Construct a triangle when :- mBC = 7cm, £B =45°and mAB = 5cm - o Seads (V)
(vi) Write Hero's Formula by which we find the area of a triangle. _G.rlggfp"’,}/?wc.ugff J."Tumwl‘;/_f‘ (vi)

(vii)  Calculate the radius of a sphere of volume 850 m® . Take  to be 3;2- -;..%Zc»fg(ﬂ,?.4_/‘4.._){850(’-7&}"5()”‘_/!”(4_/ (vii)
(viii) Write "Distance formula". !‘u:’{ " et (vili)
(ix) Describe the location of points on the number plane. ©, -7 UG (iX)

Section - II 95
Note: Attempt any three questions from the following: (8x3=24) QI f ezl el it -
5. (@  Findthe valugof & +b’+c?ifab+bc+ca=1l, atb+c=6  ab+be+ca=Ilsa+b+c=6 £& e +b2+c? ()
®)  rpary=5x* + 14x°+3x? = 5x — 3 is divided by LV e x—1/P(x)=5x" +14x’+3x* = 5x - 3/] O
x —1, find the remainder. Ny S
6. () Simplify: Lo “zzzibb’;” - &4
(b)  Solve: 2-x)>;6-x0+3 ZS W
7. (a) Derive quadratic formula from : ax>+bx+c=0 I Kmwesifababan (I
®) A= [g g], B= [_21 _03] then prove that (AB)' = B'A" (AB) =B'A' /& =t7B = [_21 _03] s A= [3 g]fv )
87 (a) ‘S)(()):S/::b;l;c equation by Cramer's rule method if I WP St S e L oH L p S otien o ()
N o el S i oneth o each e e <t S UL son 2E A L P B S (D
9. (a) Find the volume of a cone with altitude 9 cm and radius of the base 6 cm. _"g R 6Kt 9SS S gf r,lv(f (Y ()]
(b)  Show that the points A(—3, 0) , B(3, 0) and L BB gLl CO, 3v3).s B(3, 0) A(=3, 006 25 =t (L)

C(0, 3v3) are of an equilateral triangle.
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swer sheet provided. Four possible answers

1 the corresponding circle A,B,C or D in

S B SAvgpee s 3 tnZ . .,«B'"'IKVIX;‘/J:/,:Q(QM_U,?ZZ,: DCBAcMZ Kl Ly z 1t
1.1 IfP(x)=x’—-2x>+5x+1thenP(1)=? . P(1)=??P(x)=x3-—2x2+5x+1ff 1.1
(A) 0 B) -5 ©) -7 D) 5
2. The number of methods to find L. C. M are: B S, r)’ﬂf IS5 2
(&) 0 (B 3 © 1 D) 2
3. H.C.Fofx’+8, x’—4is: ot +8, 2743
(A) x+2 (B) x—2 € @E+2)x-2) O (x=-2)x*+2x+4)
4. ::nc}; 1\1':(111216 of the variable which makes the equation a true statement _ ed Wee Sibernfel ,VJ( 2o 4
(A) Equation s (B) In-equality sl &
(C) Solution S (D) Constant o
5. A quadratic equation has a degree: —ebnpnftieGun 3
(A) 1 (B) 2 © 0 (D) 3
6. x%+2x+ 1 =0 has the solution: .§.¢5JKx2+2x+1=0 6
(A) =13 (B) =1} 1O {0} (D)  Nothing ¥/
7. A matrix consisting of one row is called a : :4..&1}{:;4;1}54!& YA 7
(A) Row matrix B (B) Column matrix I J '
(C) Identity matrix ._.)l?f;qu Yed (D)~ Scalar matrix o A
8. Inmatrices (AB)' =? (AB)'=7&uds B
(A) Al (B) B! ©) A'B! (D) B! A"
9. The sum of angles of a triangle is: -q_t'n,;/-' KUl ad 9
(A) 90° (B) 270° (®)] 180° ®) 360°
10. Number of medians in a triangle is: -4;_,3;4)1»70( Udbstedslf 10
&) 1 B) 3 © 2 D) 4
11.  Area of equilateral triangle with side 'a' is: e b3 Kn'a Fh et 11
N % b xh (B) bxh  (© J§4a2 D) \/§2a2
12. In the plane with every ordered pair is associated: e ballra IRl P U S 12
A) A unique point 55 7 (B) Zero >
© Two points b D) Four points b
13. (a+ by — (a—bf} =~ @+ b — (@a—bp = emr 13
(A) 2(a’ + %) B) 4ab ©) -4ab (D) a + b
K. Ja = a';' is a surd of order: Y Va = a%(‘uui' b
) 0 ®) 1 © 2 ®) .
15. A linear polynomial is of degree: _4‘-':,?.?»&3 sk 15
A) 0 1)) 1 © 2 ®) 3
27-10-A




S.S.C. (Part-1I) A /2024
( Bofl e e (For all Sessions)
General Mathematics (Arts) (Subjective) Group -1I ’ ZI \ 5 o8 (&) NIz
Time: 2:10 Hours [P d y Marks : 60
. Section-I oo
2. Write short answers of any six parts of the question. (2x6=12) WY TS ALz ,gc.éf 2
7 w2 o e s 3
(i) Reduce the rational expression to its lowest terms : z ;] Ed¥ w S ” @)
y — 3x
(ii) Define irrational number. A 1 7 R ()
(i) 1fx=2+3, then find x — = . Eppredx - Simx=2+43 (i)
(iv) Factorize 364" — 1 i (V)
(v) Factorize 27x3+1 o5 W
(vi) Define factor theorem. oy JSsi e (VD)
(vil) Write down the names of methods to find H.C.F -gfftﬁui’)LLf(P(”"bb (vii)
{viij) Find H. C.F of x*+8 and x* — 4 g Pl (vidi)
(ix) FindL.C.Mof x> — 49 and x> — 4x — 21 e Frosens (%)
.. . . ] P
3. Write short answers of any six parts of the question. (2x6=12) i f e Lz .{r.&f .3
(i) Define linear equation. __‘é».él/”‘(!abl/f (1)
(i) Verify that x = 2 is a root of the equation 5x — 12=-2 e SE5x—12=~2=hle X = 2t (i)
P
(iii) Solve L =Y Gin
x+6
(iv) Solve X +4x—77=0 ZJS ()
(v) Solve by using factorization method: ; (x+1)=3 ZESGEh ()
(vi) Write quadratic formula. & F Ml Gan (vi)
(vii) Write the name of two techniques to solve simultaneous equation. b4 (t[,uiz Il LS Suiias A (Vil)
(viii) Verify the singular or non-singular matrix. [_11 _33] it e s Sy St (VidD)
, . ; -3 271.7=1 5 ) -
(ix) Find the matrix products [ 4 _1] [_1 3] -u_’fr)”.,,/‘j‘bw.»!b (ix)
4. Write short answers of any six parts of the question. (2x6=12) E iz LR ,gc..df A
(i) Define reflex angle. _u:/h.e/’J,,uJ” (i)
(i) Define obtuse triangle. S ke i 2 (i)
(iii) Define square. S f8E, (i)
(iv) Define tangent in circle. S o (iv)
Find the third sid ight triangle with =5 b=12 ¢c=7? 4 P G b m ok T
o 'a]',n'b‘ gfdeslgnsl'c?ﬁ;;;%:nutsr;a? e § ¢ ¢ e L A, e A ek hts (V)
(vi) Find the area of triangle whose base is 18 cm and altitude is 35 cm. a2 35 LB T 180k R S S (vi)
(vii) Find the distance between the points. (-1,3), (=2,-D e s L d e (VD)
(viii) Find the value of x in the given triangle. 90° uex Sesdy (Vi)
X 45° C
(ix)  Find the volume of a cube with side 4 cm. R 4&’(&5(}"’?&)&{' (ix)
Section - IT (924
Note: Attempt any three questions from the following: (8x3=24) -q/,; ¥4 _-,gméamyuf edfetditn —2d
5 @ 1 -:;= V10 + 3 then evaluate (P — i ¥y A Ov ¢ % Yin %= Vio +3/i (@ 5
(b) If P(x) =4x"+10x’ + 19x + 5 is divided by x + 3, . . 5 oy 3
then find the remainder. 'ér#du"?gﬁ“/‘ x+3/P(x) =4x"+ 106"+ 19x + 5/ ()
x* -yt x—y x* + y* :
6. Simplify: + —— A A )
@ imphify x% — 2xy + y? = x(x+y) x Sl
() Solve: VEn+9 = n—1 WSS Q)
7. (a) Solve by completing square method. x2— 10x—-3=0 -‘_[/chl)éd/f ) -7
i 12] ; . i : " 12
®) LetM= [3 4] verify that M M = M M M'M=MM' S etin M= [3 4]/7 >
8. (a) Use Cramer's Rule to solve the - - . ¢y o7 B () -8
given linear equations: L x+3y=62x+y=4 -J/JIU;"V”/"&/’%@"GJ&”L/LJ"‘"I—‘»’) LS
(b) Constructa A ABC in which mBC = 5.4 cm, Stonm 2 C =55 mBC=54cm,msB =65 Sk L )
m<B =65°and m £ C = 55° find the JE ff 5
centroid of the triangle. 9 N add
9. (a) Find the volume of a sphere, whose radius is 3 cm. ,f N\ -'gf{ (}”,f 4}-‘@’ LY S O ) )
(b)  Show that the points A(3, 1), B(-2, -3) and C(2,2) b LA C2, 20 B(2, -3) < AG, s S et ()

are vertices of an isosceles triangle.
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